OAN-  Opt. access networks
Exercisess
1.

If mean input power in 8 km long optical fiber is 120 μW, then the mean output power is 3 μW.

Calculate:

a) the total insertion loss of line in [dB], if we suppose, that there are no connectors neither couplers.

b) specific insertion loss (loss per 1 km) of the fiber (in dB/km)
c) the total insertion loss of 10 km optical link realized from the fiber of the same type, and from the couplers  one per each km of link. Each coupler has insertion loss of 1 dB.
d) the ratio of input and output power for link in task c).
2.

The mean input optical power in opt. fiber link is 1,5 mW. The fiber has specific insertion loss 0,5 dB/km. Calculate the ultimate length of optical fiber link without repeaters and without connectors or couplers, if minimal value of mean optical power required for receiver is 2 μW.
Results:

1. 
 a)  16 dB

  b) 2 dB/km

c) 29 dB

d) 794,3     -->  ? dB

2. 
the max. insertion loss of link is  A= 28,75 dB

             
and

     lmax= 57,5 km

